| Efficiency vs Dxy |

> 0.

efficiency vs dx
o o

N

o
w

15

o

o

8

\‘

o))

9]

N
(@]

---------------------------------

.......

----------------------------

—2520151050 510152025

TP dxy (cm)

| Efficiency vs Dz |

V4
=
N

efficiency vs d

o
©
[

o
o))
[

0.

H
= a1
TTTT[TTTT[TTTT
RRARYRAARY
h r
——"

—s— DQM_V000I_RO0000000I__Global
—e— DQM_V0001_R000000001__Global
—— DQM_V0001_R000000001__Global

MKFIt_baseline

mKkFit_var

mkFit_jcoreNoClean
mkFit_jcore50maxCand-33DUPremoval

T

..........................................

..........................................

e EETT SEER PRI PP

— DQM VOOOl R000000001__Global

TP dz (cm)




	Contents
	Page 1


